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DISCRETE OUTCOMES
- Toss it DIE OUTCOMES :{42.3.45.6}
- TOSS A COIN UNTIL YOU SEE
d-HEAD
OUTCOME -

- THE # OF THAT Toss

OUTCOMES: { c) 2.3.4, - - - - - -- }
* NUMBER .

CONTINUOUS OUTCOMES
- TEMPERATURE
- THROW A PAPER AIRPLANE

LOCATION OF LANDING CX
,2)

- YOU CANNOT LIST 7cL OUTCOMES .

-WE NEED DIFFERENT MATH HERE
.

- MATH : COUNTABLE US

UNCOUNTABLE INFINITY .
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SAMPLESPAC.ESET OFALL OUTCOMES

DlE_ 5={1,213,4/5,6}

coin S={Hit }

PAPER AIRLANE { (x,y) : 0-4<-1
0=5-1

'

}

EVENT -USEFUL SET OF

- OUTCOMES

D(E_ EVENT : DEEZ { 1,23
DIE 'S PRIME :{ 2.3.53
DIE > 10 53

PAPER AIRPLANE
say) : 05×42,0=9%5
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WITH CONTINUOUS SPACE , YOU

HAVE TO WORK WITH EVENTS
,

NOT

OCUTCOMES.VE#GdFAmFoRDcc--
3 PRIME
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4 3 •75

10 4 -4

/ 100 55 - 555

4000 502 -502
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LAW OF LARGE NUMBERS
AS WE TOSS MORE COINS

FRACTION OF HEADS

→ 50%

MOST DISTRIBS DO THIS

SOME IMPORTANT ONES
DO NOT



THAT'S MOSTLY BEYOND
THIS Coarse .

STOCK MARKET PROBABLY .


